Enrollment No: Exam Seat No:

C. U. SHAH UNIVERSITY
Winter Examination-2022

Subject Name: Basic Mathematics
Subject Code: 2TE01BMT3 Branch: Diploma (All)
Semester: 1 Date: 10/01/2023 Time: 11:00 To 02:00 Marks: 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Q-1 Attempt the following questions: (14)

a) IfA=E ;]then ] =

B Qs a=7 |8 Al =
@ 0 (b) 1 (© -1 (d) 2
b) Which of the following matrix is of order 2 x 3 ?

(AActruell 53] AQls 2 x 3 s&llo] &2

o 1
@[y 3] ® [, & © [z 30 @ [0 1 2]
4 5
1 2 4
0 IfA= |2 1 3] then cofactor of '4’ is
5 6 0
1 2 4
o ABsA= |2 1 3[8a A4 ol Ascud HAL
5 6 0
(@ 6 M) 5 (¢ 7 (d 8
d si=_

@ 6 () 24 (c) 120 (d) 720

e) The distance between two points A(1,1) and B(2,2)is_____ .
A(1,1) ¥l B(2,2)ARe] A dR........... HA
@ 3 (O V3 (@ 2 (d V2

f) Theslopeofline3x +2y+5=0is___

RUL3x + 2y +5=0 al al .
2

@-3 ® - © -2 (@@ -3

®
< @& 3
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9)

h)

(6)+()=
2 1)
@ 9 () 10 (¢) 11 @ 12

Total numbers of terms in expansion of (x + y)? is

(x + )9l [QRcRRIHL 5 32l UEl &A?
@8 () 9 () 10 (@@ 11

sin (g + 0) =
(@—cos8 (b) —sinf (¢c) cosf® (d) sinf
360° = radians.

@m B -—-m () 2r (d) —-2m

sinAcosB —cosAsinB = .
(@) sin(A—B) (b) cos(A—B) (c) sin(A+ B) (d) cosifA + B)

sin(30°) = .
@-; ® 2 (© 5 @ -2

7T -
True or false: 1° = @radlan.

3 4
Ifsin@ = < andcos 0 = T find tan®.

3 4
%\ sin@ = < Wl cos O = < Al tand ol (31 AnAl.

Attempt any four questions from Q-2 to Q-8

Q-2

Attempt all questions (14)
2 1 4 5 4 0
IfA=[0 3 1] and B = [6 2 5] then find a matrix X such that 05
5 1 0 7 1 1
4A + 3B = X.
2 1 4 5 4 0
A AQsA=|0 3 1 u&3=[6 2 5|8 A Als X And
5 1 0 7 1 1
Rl 53l 44 + 3B = X.
12 1 2 3
fA=|2 1| and B= [4 : 6] then find AB and BA. 05
1 2
1 2
B AQls 4 = |2 1] UA B = [411 é 2 8l A 4B A BA A,
1 2
Define: (i). Symmetric Matrix  (ii). Upper Triangular Matrix 04

cqull AL (). ARA AR (ji). GudlAslaust: Alls
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Q-3

Attempt all questions

11 0
If matrix4A = |0 1 1] then find A1,
10 1
11 0
NAMsA= |0 1 1[8A Q4! A
10 1
12 2 3 . ~
|fA_[3 O]andB—[4 5]thenf1ndA+4BandZB 3A.
o2 2 3 _
°&A_[3 O]m@tB_LL 5cﬂA+4Bwa23 34 A

Solve using Matrix Method: 2x + 5y = 4,3x — 2y = 7.
Aol Heedl BUd AnCl: 2x + 5y =4,3x — 2y = 7.

Attempt all questions
Find the equation of straight line passing through the points A (2, 6) and
B (1, 2) and also find its slope.

A (2,6) U B (1,2) lgalHigl v adl uie] qllswl da
Aol @l Aadl.

Find the coordinate which divide the line segment joining the point
A(1,2)and B(4,5) into the ratio 1: 2 internally.

(Glg A(1,2) WA B(4,5)Hiell AR AUctl ulvisal 1:2 2JBUARMI

(Qeuesst sl (Blgatl a1 AnAl.

Find the distance of the following points.

(A Al ((gall cdAef BicdR AN
(i). A(4,5),B(5,5)  (ii). €(11,12),D(11,13)

Attempt all questions
Find the expansion of (x + 3y)® by using Binomial theorem.

[Buld yRasll GuAdL 530 (x + 3y)5 of ([AxcdREL 53

2\ 8
Find the constant term of expansion (xz — —) .

X2
2\° :
(xz - X_Z) oll (ARARQL of AN UE AN A,

Find the equation of circle with Centre (1,2) and radius 2.
(1,2) 3o val 2 AsH (Ul ol ado of A{lsweL A,

(14)

06

04

04

(14)
05

05

04

(14)
05

05

04
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Attempt all questions

sin (9 - %) tan (% - 9)
cos( —m) cot(m—80)

Find the value/ Bud Ao

If tanx = 2 and tany = % then prove that x + y = %.

T

B tanx =2 tany = — QA A WEAA A5 x+y ="

Find the slope and intercept of the following line.
(AA WAL A BLOL WA B cd:uis Al
(i).3x+4y+5=0 (ii).3x =4y +5=0

Attempt all questions
Prove that/Al0lct 50: tand (1 — cot? 6) + cotf(1 — tan? ) = 0.

197 17m 117 13m
Prove that/%{l@d 52: cos - sin — sin * COS = 0.
6 6 6 6
5

: th th X,y
Find the 4'"* and 5*"* term of (3 + 2) )

(§+§)5ou (et of WY UA U ue Andl.

Attempt all questions

Prove that/(Ad 53
(tanb + sec® — 1) cos 6 = (sin® + 1)(tan® — secO + 1).
Prove that/%ll@d 5 :
., 11m 2117r_|_2t 117 2117‘[+ , 11m , 11m
sin”—— —cos® — an—— — sec” —— + sec” ——- cosec” —
=0

(14)

05

05

04

(14)

05

04

(14)
07

07
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